http://communications.science.ankara.edu.tr

# APPLICATION OF THE RATIONAL $\left(G^{\prime} / G\right)$-EXPANSION METHOD FOR SOLVING SOME COUPLED AND COMBINED WAVE EQUATIONS 

Mustafa EKİCI ${ }^{1}$ and Metin ÜNAL ${ }^{2}$<br>${ }^{1}$ Computer Technology Department, Çanakkale Onsekiz Mart University, Çanakkale, TURKEY<br>${ }^{2}$ Department of Mathematics and Science Education, Uşak University, Uşak, TURKEY


#### Abstract

In this paper, we explore the travelling wave solutions for some nonlinear partial differential equations by using the recently established rational $\left(G^{\prime} / G\right)$-expansion method. We apply this method to the combined KdV -mKdV equation, the reaction-diffusion equation and the coupled HirotaSatsuma KdV equations. The travelling wave solutions are expressed by hyperbolic functions, trigonometric functions and rational functions. When the parameters are taken as special values, the solitary waves are also derived from the travelling waves. We have also given some figures for the solutions.


## 1. Introduction

In the past decades, the travelling wave solutions of nonlinear partial differential equations (NLPDEs) play an effective role in physics, engineering and applied mathematics. The mathematical models of these subjects give important information about the behaviour of the physical event. Therefore, it is very important to obtain the traveling wave solutions of NLPDEs 32. The NLPDEs have interesting structures that deals with many phenomena in physics, chemistry and engineering, for example; in fluid flow, plasma waves, mechanics, solid state physics, oceanic phenomena, atmospheric phenomena and so on. Many researchers have been proposed various different methods to find solutions for nonlinear partial differential equations and nonlinear fractional differential equations 3640 . Such as the inverse scattering transform method [1], the Hirota's bilinear method [2], truncated

[^0]Painlevé expansion method [3], the tanh-function expansion method [4], the Jacobi elliptic function expansion method [5], the homogeneous balance method [6] 8], the trial function method [9, the exp-function method 10, 34], differential transform method [33, the Bäcklund transform method 11], the generalized Riccati equation method $12 \sqrt{15}$, the sub-ODE method 1720 , the original $\left(G^{\prime} / G\right)$-expansion method 1629 , the double $\left(G^{\prime} / G, 1 / G\right)$-expansion method 35 etc.. Since there is not a common method that can be used to solve all types of nonlinear evolution equations.

Some researchers established several powerful and direct methods. Wang et al. 16 first introduced the $\left(G^{\prime} / G\right)$-expansion method to find travelling wave solutions of nonlinear evolution equations. Later Islam et al. 21] proposed the rational $\left(G^{\prime} / G\right)$-expansion method which aims to derive closed form travelling wave solutions. In this paper we use the rational $\left(G^{\prime} / G\right)$ - expansion method and apply for the combined KdV-mKdV equation, the reaction-diffusion equation, and the coupled Hirota-Satsuma KdV equations. We derived abundant solutions for each equation that is different from the solutions in the literature.

## 2. Description of the Method

Suppose that $u=u(x, t)$ is an unknown function depends on the $x$ and $t$ variables and we define the polynomial $P$ in $u(x, t)$ and its various order partial derivatives and nonlinear terms as

$$
\begin{equation*}
P\left(u, u_{x}, u_{t}, u_{x x}, u_{t t}, u_{x t}, \ldots\right)=0 \tag{1}
\end{equation*}
$$

We use the following steps, to solve Eq.(1) by means of the rational $\left(G^{\prime} / G\right)$ expansion method.

Step 1: We assign a new variable $U(\xi)$ in terms of $x$ and $t$ variables and a new transformation:

$$
\begin{equation*}
u(x, t)=U(\xi) \quad, \quad \xi=x-s t+\xi_{0} \tag{2}
\end{equation*}
$$

where is $\xi_{0}$ a constant and $s$ is the velocity of the wave. The transformation in Eq. (2) transforms Eq. (1) into an ordinary differential equation (ODE) for $u=U(\xi)$.

$$
\begin{equation*}
Q\left(U, U^{\prime},-s U^{\prime}, U^{\prime \prime}, s^{2} U^{\prime \prime},-s U^{\prime \prime}, \ldots\right)=0 \tag{3}
\end{equation*}
$$

where $U$ and its derivatives with respect to $\xi$ are the elements of the $Q$ polynomial of $U(\xi)$.

Step 2: Next we integrate Eq. $\sqrt{3}$ one or twice as possible. Suppose that the solution of Eq.(3) can be written in the following form

$$
\begin{equation*}
u(\xi)=\frac{\sum_{j=0}^{n} a_{j}\left(G^{\prime} / G\right)^{j}}{\sum_{j=0}^{n} b_{j}\left(G^{\prime} / G\right)^{j}} \tag{4}
\end{equation*}
$$

where $a_{j}$ and $b_{j}(j=0,1,2, \ldots, n),\left(a_{n} \neq 0, b_{n} \neq 0\right)$ are arbitrary coefficient to be found later. Next we write, the $G=G(\xi)$ function, which satisfies the following second order ODE;

$$
\begin{equation*}
G^{\prime \prime}(\xi)+\lambda G^{\prime}(\xi)+\mu G(\xi)=0 \tag{5}
\end{equation*}
$$

where $\lambda$ and $\mu$ are real constants. We convert Eq. (5) into $\left(G^{\prime} / G\right)$ form,

$$
\begin{equation*}
\frac{d}{d \xi}\left(G^{\prime} / G\right)=-\left(G^{\prime} / G\right)^{2}-\lambda\left(G^{\prime} / G\right)-\mu \tag{6}
\end{equation*}
$$

From Eq. (5) or Eq. (6) the solution for $\left(G^{\prime} / G\right)$ as follows
$\left(G^{\prime} / G\right)=\left\{\begin{array}{cl}-\frac{\lambda}{2}+\frac{\sqrt{\lambda^{2}-4 \mu}}{2}\left(\frac{c_{1} \cosh \left(\left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2}\right) \xi\right)+c_{2} \sinh \left(\left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2}\right) \xi\right)}{c_{1} \sinh \left(\left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2}\right) \xi\right)+c_{2} \cosh \left(\left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2}\right) \xi\right)}\right) & ; \lambda^{2}-4 \mu>0, \\ -\frac{\lambda}{2}+\frac{\sqrt{4 \mu-\lambda^{2}}}{2}\left(\frac{-c_{1} \cos \left(\left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2}\right) \xi\right)+c_{2} \sin \left(\left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2}\right) \xi\right)}{c_{1} \sin \left(\left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2}\right) \xi\right)+c_{2} \cos \left(\left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2}\right) \xi\right)}\right) & ; \lambda^{2}-4 \mu<0, \\ -\frac{\lambda}{2}+\frac{c_{2}}{c_{1}+c_{2} \xi} & ; \lambda^{2}-4 \mu=0,\end{array}\right.$
where $c_{1}$ and $c_{2}$ are constants.
Step 3: To determine the value of $n$, which is the degree of $U(\xi)$, in Step 2, we apply the homogeneous balance method, that is balancing between the highest order nonlinear terms and the highest order derivatives in Eq.(3). The degree of other terms in Eq.(3) can be written as in the following form 21]

$$
\operatorname{deg}\left[\frac{d^{m} u(\xi)}{d \xi^{m}}\right]=n+m, \operatorname{deg}\left[u^{m}\left(\frac{d^{l} u(\xi)}{d \xi^{l}}\right)^{p}\right]=m n+p(n+l)
$$

where $\operatorname{deg}[U(\xi)]$ is the degree of $U(\xi)$.
Step 4: After determining the value of $n$, we substitute Eq. (4) along with Eq. (5) into Eq. (3). Equating the coefficients of $\left(G^{\prime} / G\right)$ to zero, gives a system of algebraic equations. In order to solve these equations we use the computer software programme such as Maple or Matematica. If there is a possible solution, we obtain values for $a_{i}, b_{i}, \lambda, \mu$ and $s(i=0,1,2, \ldots, n)$.

Step 5: Finally we substitute the values of $a_{i}, b_{i}(i=0,1,2, \ldots, n), \lambda, \mu, s$ and the solutions given in Eq.(7), into Eq.(4), hence the solutions of the nonlinear Eq.(1) are derived.

## 3. Application of the Method

Example 1. The combined $K d V-m K d V$ equation

The KdV and mKdV equations are widely studied popular soliton equations. The nonlinear terms appearing in the KdV and mKdV equations often exist in applied science and engineering, such as in plasma physics, ocean dynamics and quantum field theory $22 \sqrt{24}$. If we combine the quadratic nonlinear term of the KdV equation and the qubic nonlinear term of the mKdV equation, then we get the combined KdV-mKdV equation or the Gardner equation 25

$$
\begin{equation*}
u_{t}+\alpha u u_{x}+\beta u^{2} u_{x}+u_{x x x}=0 \tag{8}
\end{equation*}
$$

where $\alpha$ and $\beta$ are nonzero parameters. This equation describes the wave propagation of bounded particle,sound wave and thermal pulse [26 28 ].

The travelling wave transformation $u(x, t)=U(\xi), \xi=x-s t+\xi_{0}$, transforms Eq. (8) into to the following ODE

$$
\begin{equation*}
-s U^{\prime}+\alpha U U^{\prime}+\beta U^{2} U^{\prime}+U^{\prime \prime \prime}=0 \tag{9}
\end{equation*}
$$

where $s$ is the velocity of the wave and the superscript of $U$ shows the derivative of $U$ with respect to $\xi$. Next, we integrate Eq. (9) and deduce the following equation

$$
\begin{equation*}
C-s U+\frac{1}{2} \alpha U^{2}+\frac{1}{3} \beta U^{3}+U^{\prime \prime}=0 \tag{10}
\end{equation*}
$$

where $C$ is an integration constant to be found later. We use homogeneous balance method, such as balancing the terms $U^{\prime \prime}$ and $U^{3}$ in Eq. 10 we get $n=1$, so we can write Eq. (4) as

$$
\begin{equation*}
U(\xi)=\frac{a_{0}+a_{1}\left(G^{\prime} / G\right)}{b_{0}+b_{1}\left(G^{\prime} / G\right)} \tag{11}
\end{equation*}
$$

Next we substitute Eq. (11) into Eq. 10) and organize the equation in terms of the powers of $\left(G^{\prime} / G\right)$. Hence equating the coefficients of $\left(G^{\prime} / G\right)$ and its powers to zero in the resulting equation, gives a system of algebraic equations for $a_{0}, b_{0}, a_{1}, b_{1}, s$ and $C$. Solving the set of equations by using the computer programme Maple, we get the following set of solutions.

## Set 1

$$
\begin{align*}
a_{0} & =\mp \frac{1}{2} \frac{b_{0}\left( \pm \sqrt{-\frac{6}{\beta}} \alpha+6 \lambda\right)}{\beta \sqrt{-\frac{6}{\beta}}}, a_{1}= \pm \sqrt{-\frac{6}{\beta}} b_{0}, b_{1}=0  \tag{12}\\
s & =-\frac{2 \beta \lambda^{2}+\alpha^{2}-8 \beta \mu}{4 \beta}, \quad C=\frac{\alpha\left(6 \beta \lambda^{2}+\alpha^{2}-24 \beta \mu\right)}{24 \beta^{2}}
\end{align*}
$$

where $b_{0}, \lambda, \alpha, \beta$ and $\mu$ are all arbitrary constants. Substituting Eq.(12) into Eq. (11) we get the following solution

$$
\begin{equation*}
U(\xi)= \pm \sqrt{-\frac{6}{\beta}}\left(G^{\prime} / G\right)-\frac{\alpha}{2 \beta} \mp \frac{3 \lambda}{\beta} \sqrt{-\frac{\beta}{6}} \tag{13}
\end{equation*}
$$

where

$$
\begin{equation*}
\xi=x+\left(\frac{\alpha^{2}}{4 \beta}+\frac{\lambda^{2}-4 \mu}{2}\right) t+\xi_{0} \tag{14}
\end{equation*}
$$

and $\left(G^{\prime} / G\right)$ is given in Eq.(7). Substituting Eq. (7) into Eq. (13), we deduce the following travelling wave solutions.

Case 1: If $\lambda^{2}-4 \mu>0$, then we have

$$
\begin{align*}
U(\xi)= & \pm \frac{1}{2} \sqrt{-\frac{6\left(\lambda^{2}-4 \mu\right)}{\beta}}\left(\frac{c_{1} \cosh \left(\frac{1}{2} \sqrt{\lambda^{2}-4 \mu} \xi\right)+c_{2} \sinh \left(\frac{1}{2} \sqrt{\lambda^{2}-4 \mu} \xi\right)}{c_{1} \sinh \left(\frac{1}{2} \sqrt{\lambda^{2}-4 \mu} \xi\right)+c_{2} \cosh \left(\frac{1}{2} \sqrt{\lambda^{2}-4 \mu} \xi\right)}\right) \\
& \mp \frac{\lambda}{2} \sqrt{-\frac{6}{\beta}}-\frac{\alpha}{2 \beta} \mp \frac{3 \lambda}{\beta} \sqrt{-\frac{\beta}{6}} . \tag{15}
\end{align*}
$$

If we choose $c_{1}=\sinh \left(\xi_{0}\right)$ and $c_{2}=\cosh \left(\xi_{0}\right)$, we get the following hyperbolic solution for the Eq. 10

$$
\left.U(\xi)= \pm \frac{1}{2} \sqrt{-\frac{6\left(\lambda^{2}-4 \mu\right)}{\beta}} \tanh \left(\frac{\xi}{2} \sqrt{\lambda^{2}-4 \mu}+\xi_{0}\right)\right) \mp \frac{\lambda}{2} \sqrt{-\frac{6}{\beta}}-\frac{\alpha}{2 \beta} \mp \frac{3 \lambda}{\beta} \sqrt{-\frac{\beta}{6}}
$$

The plot of the solution for the values $\left(\lambda=5, \mu=4, \alpha=3, \beta=-4, \xi_{0}=2\right)$ is given in Fig 1.


Figure 1. Hyperbolic solution for Eq.(8)

Case 2: If $\lambda^{2}-4 \mu<0$, then we have

$$
\begin{aligned}
U(\xi)= & \pm \frac{1}{2} \sqrt{-\frac{6\left(4 \mu-\lambda^{2}\right)}{\beta}}\left(\frac{-c_{1} \cos \left(\frac{\xi}{2} \sqrt{4 \mu-\lambda^{2}}\right)+c_{2} \sin \left(\frac{\xi}{2} \sqrt{4 \mu-\lambda^{2}}\right)}{c_{1} \sin \left(\frac{\xi}{2} \sqrt{4 \mu-\lambda^{2}}\right)+c_{2} \cos \left(\frac{\xi}{2} \sqrt{4 \mu-\lambda^{2}}\right)}\right) \\
& \mp \frac{\lambda}{2} \sqrt{-\frac{6}{\beta}}-\frac{\alpha}{2 \beta} \mp \frac{3 \lambda}{\beta} \sqrt{-\frac{\beta}{6}}
\end{aligned}
$$

If we choose $c_{1}=\sin \left(\xi_{0}\right)$ and $c_{2}=\cos \left(\xi_{0}\right)$, we get the following trigonometric solution for the Eq. 10

$$
\left.U(\xi)= \pm \frac{1}{2} \sqrt{-\frac{6\left(4 \mu-\lambda^{2}\right)}{\beta}} \tan \left(\frac{\xi}{2} \sqrt{4 \mu-\lambda^{2}}+\xi_{0}\right)\right) \mp \frac{\lambda}{2} \sqrt{-\frac{6}{\beta}}-\frac{\alpha}{2 \beta} \mp \frac{3 \lambda}{\beta} \sqrt{-\frac{\beta}{6}}
$$

The plot of the solution for the values $\left(\lambda=4, \mu=5, \alpha=3, \beta=-6, \xi_{0}=2\right)$ is given in Fig 2.


Figure 2. Trigonometric solution for Eq.(8)
Case 3: If $\lambda^{2}-4 \mu=0$, then we have

$$
U(\xi)= \pm \sqrt{-\frac{6}{\beta}}\left(\frac{c_{2}}{c_{1}+c_{2} \xi}\right) \mp \frac{\lambda}{2} \sqrt{-\frac{6}{\beta}}-\frac{\alpha}{2 \beta} \mp \frac{3 \lambda}{\beta} \sqrt{-\frac{\beta}{6}}
$$

The plot of the solution for the values $\left(\lambda=4, \mu=4, \alpha=3, \beta=-6, \xi_{0}=2\right)$ is given in Fig 3. In particular, if $c_{1}=0$ and $c_{2} \neq 0$ and $\lambda>0$ and $\mu=0$, then


Figure 3. Rational solution for Eq.(8)

Eq. (15) becomes

$$
\begin{equation*}
U(\xi)= \pm \frac{\lambda}{2} \sqrt{-\frac{6}{\beta}} \tanh \left(\frac{\lambda}{2} \xi\right) \mp \frac{\lambda}{2} \sqrt{-\frac{6}{\beta}}-\frac{\alpha}{2 \beta} \mp \frac{3 \lambda}{\beta} \sqrt{-\frac{\beta}{6}} \tag{16}
\end{equation*}
$$

or if $c_{1} \neq 0$ and $c_{2}=0$ and $\lambda>0$ and $\mu=0$, then Eq. 15 becomes

$$
\begin{equation*}
U(\xi)= \pm \frac{\lambda}{2} \sqrt{-\frac{6}{\beta}} \operatorname{coth}\left(\frac{\lambda}{2} \xi\right) \mp \frac{\lambda}{2} \sqrt{-\frac{6}{\beta}}-\frac{\alpha}{2 \beta} \mp \frac{3 \lambda}{\beta} \sqrt{-\frac{\beta}{6}} \tag{17}
\end{equation*}
$$

where

$$
\xi=x+\left(\frac{\alpha^{2}}{4 \beta}+\frac{\lambda^{2}}{2}\right) t+\xi_{0}
$$

Note that Eq. (16) and Eq. (17) represents the solitary wave solutions of the combined KdV-mKdV equation Eq. (8)

## Set 2

$$
\begin{gather*}
a_{0}=\frac{\left(-\lambda \alpha \mp \sqrt{-96 \beta \mu^{2}-6 \lambda^{4} \beta+48 \mu \lambda^{2} \beta}\right) b_{1}}{4 \beta}, a_{1}=\frac{-\alpha b_{1}}{2 \beta}, \quad b_{0}=\frac{b_{1} \lambda}{2}  \tag{18}\\
s=\frac{-2 \lambda^{2} \beta+8 \mu \beta-\alpha^{2}}{4 \beta}, C=\frac{\alpha\left(6 \lambda^{2} \beta-24 \mu \beta+\alpha^{2}\right)}{24 \beta^{2}}
\end{gather*}
$$

where $b_{1}, \lambda$ and $\mu$ are arbitrary constants. Substituting Eq. 18) into Eq. 11) we get the following solution

$$
\begin{equation*}
U(\xi)=\frac{-2 \alpha\left(G^{\prime} / G\right)+\left(-\lambda \alpha \mp \sqrt{-96 \beta \mu^{2}-6 \lambda^{4} \beta+48 \mu \lambda^{2} \beta}\right)}{4 \beta\left(G^{\prime} / G\right)+2 \lambda \beta} \tag{19}
\end{equation*}
$$

where

$$
\begin{equation*}
\xi=x+\left(2 \mu-\frac{2 \lambda^{2} \beta+\alpha^{2}}{4 \beta}\right) t+\xi_{0} \tag{20}
\end{equation*}
$$

and $\left(G^{\prime} / G\right)$ is given in Eq. 7 .

## Set 3

$$
\begin{align*}
a_{0} & =\frac{-6 b_{0}^{2} \lambda+12 b_{1} \mu b_{0}+3 b_{0} b_{1} \lambda^{2}-6 \lambda \mu b_{1}^{2}}{\mp \sqrt{-6 b_{1}^{2} \lambda^{2} \beta+24 b_{1} \beta b_{0} \lambda-24 b_{0}^{2} \beta}}+\frac{\alpha b_{0}}{2 \beta} \\
a_{1} & =\frac{-\alpha b_{1} \pm \sqrt{-6 b_{1}^{2} \lambda^{2} \beta+24 b_{1} \beta b_{0} \lambda-24 b_{0}^{2} \beta}}{2 \beta}  \tag{21}\\
s & =\frac{-2 \lambda^{2} \beta+8 \mu \beta-\alpha^{2}}{4 \beta}, C=\frac{\alpha\left(6 \lambda^{2} \beta-24 \mu \beta+\alpha^{2}\right)}{24 \beta^{2}}
\end{align*}
$$

where $b_{0}, b_{1}, \lambda, \alpha, \beta$ and $\mu$ are arbitrary constants. Substituting the values of constants from Eq. 21) into Eq. 11) gives
$U(\xi)=\frac{\left(\frac{-\alpha b_{1} \pm \sqrt{-6 b_{1}^{2} \lambda^{2} \beta+24 b_{1} \beta b_{0} \lambda-24 b_{0}^{2} \beta}}{2 \beta}\right)\left(G^{\prime} / G\right)+\left(\frac{-6 b_{0}^{2} \lambda+12 b_{1} \mu b_{0}+3 b_{0} b_{1} \lambda^{2}-6 \lambda \mu b_{1}^{2}}{\mp \sqrt{-6 b_{1}^{2} \lambda^{2} \beta+24 b_{1} \beta b_{0} \lambda-24 b_{0}^{2} \beta}}+\frac{\alpha b_{0}}{2 \beta}\right)}{b_{1}\left(G^{\prime} / G\right)+b_{0}}$
where $\xi=x+\left(\frac{2 \beta \lambda^{2}+\alpha^{2}-8 \beta \mu}{4 \beta}\right) t+\xi_{0}$.

Example 2. The reaction-diffusion equation
We have the reaction-diffusion equation 30

$$
\begin{equation*}
u_{t t}+\alpha u_{x x}+\beta u+\gamma u^{3}=0 \tag{22}
\end{equation*}
$$

where $\alpha, \beta$ and $\gamma$ are nonzero constants. The traveling wave variable Eq. 22 reduces the Eq. 22) into an ODE

$$
\begin{equation*}
\left(\alpha+s^{2}\right) U^{\prime \prime}+\beta U+U^{3}=0 \tag{23}
\end{equation*}
$$

where $s$ is the velocity of the wave. Next we express the solution of the Eq. 23 ) in terms of $\left(G^{\prime} / G\right)$ as it is written in Eq. (4), where $G=G(\xi)$ satisfies the second order linear ODE in Eq. (23). We use homogeneous balance method, such as balancing the terms $U^{\prime \prime}$ and $U^{3}$ in Eq. (23) we get $n=1$, hence from Eq. (4), we have

$$
\begin{equation*}
U(\xi)=\frac{a_{0}+a_{1}\left(G^{\prime} / G\right)}{b_{0}+b_{1}\left(G^{\prime} / G\right)} \tag{24}
\end{equation*}
$$

Substituting Eq. 23 into Eq. 22 and write the left hand side in terms of $\left(G^{\prime} / G\right)$. Hence equating the coefficients of the resulting equation to zero, gives a system of algebraic equations for $a_{0}, b_{0}, a_{1}, b_{1}$ and $s$. Solving the set of equations by using the computer programme, we get the following set of solutions:

## Set 1

$$
\begin{gather*}
a_{0}= \pm \frac{1}{2} \sqrt{\frac{-\beta\left(\lambda^{2}-4 \mu\right)}{\gamma}} b_{1}, b_{0}=\frac{1}{2} \lambda b_{1}  \tag{25}\\
a_{1}=0, s= \pm \sqrt{\frac{2 \beta}{\lambda^{2}-4 \mu}-\alpha}
\end{gather*}
$$

where $b_{1}, \lambda$ and $\mu$ are all arbitrary constants. Substituting Eq. 25 into Eq. 24 we get the following solution

$$
\begin{equation*}
U(\xi)=\frac{ \pm \frac{1}{2} \sqrt{\frac{-\beta\left(\lambda^{2}-4 \mu\right)}{\gamma}}}{\left(G^{\prime} / G\right)+\lambda / 2} \tag{26}
\end{equation*}
$$

where

$$
\begin{equation*}
\xi=x \pm\left(\sqrt{\frac{2 \beta}{\lambda^{2}-4 \mu}-\alpha}\right) t+\xi_{0} \tag{27}
\end{equation*}
$$

and $\left(G^{\prime} / G\right)$ is given in Eq. (7). Substituting Eq. (7) into Eq. (26), we deduce the following travelling wave solutions.

Case 1: If $\lambda^{2}-4 \mu>0$, then we have

$$
U(\xi)= \pm \sqrt{-\frac{\beta}{\gamma}}\left(\frac{c_{1} \sinh \left(\frac{\xi}{2} \sqrt{\lambda^{2}-4 \mu}\right)+c_{2} \cosh \left(\frac{\xi}{2} \sqrt{\lambda^{2}-4 \mu}\right)}{c_{1} \cosh \left(\frac{\xi}{2} \sqrt{\lambda^{2}-4 \mu}\right)+c_{2} \sinh \left(\frac{\xi}{2} \sqrt{\lambda^{2}-4 \mu}\right)}\right)
$$

If we choose $c_{1}=\cosh \left(\xi_{0}\right)$ and $c_{2}=\sinh \left(\xi_{0}\right)$, we get the following hyperbolic solution for the Eq. 22

$$
U(\xi)= \pm \sqrt{-\frac{\beta}{\gamma}} \tanh \left(\frac{\xi}{2} \sqrt{\lambda^{2}-4 \mu}+\xi_{0}\right)
$$

Case 2: If $\lambda^{2}-4 \mu<0$, then we have

$$
U(\xi)= \pm \sqrt{-\frac{\beta}{\gamma}}\left(\frac{c_{1} \sin \left(\frac{\xi}{2} \sqrt{4 \mu-\lambda^{2}}\right)+c_{2} \cos \left(\frac{\xi}{2} \sqrt{4 \mu-\lambda^{2}}\right)}{-c_{1} \cos \left(\frac{\xi}{2} \sqrt{4 \mu-\lambda^{2}}\right)+c_{2} \sin \left(\frac{\xi}{2} \sqrt{4 \mu-\lambda^{2}}\right)}\right)
$$

If we choose $c_{1}=\cos \left(\xi_{0}\right)$ and $c_{2}=\sin \left(\xi_{0}\right)$, we get the following trigonometric solution for the Eq. 22

$$
U(\xi)=\mp \sqrt{-\frac{\beta}{\gamma}} \tan \left(\frac{\xi}{2} \sqrt{4 \mu-\lambda^{2}}+\xi_{0}\right)
$$

Case 3: If $\lambda^{2}-4 \mu=0$, then we have trivial solution for the Eq. 22

$$
U(\xi)=0
$$

## Set 2

$$
\begin{gather*}
a_{0}= \pm \frac{\lambda b_{0} \sqrt{\beta}}{\sqrt{\gamma\left(4 \mu-\lambda^{2}\right)}}, a_{1}= \pm 2 \sqrt{\frac{\beta}{\gamma\left(4 \mu-\lambda^{2}\right)}} b_{0}  \tag{28}\\
b_{1}=0, \quad s= \pm \sqrt{\frac{2 \beta}{\lambda^{2}-4 \mu}-\alpha}
\end{gather*}
$$

where $b_{0}, \lambda, \beta$ and $\mu$ are arbitrary constants. Substituting Eq. 28) into Eq. 24) we get the following solution

$$
\begin{equation*}
U(\xi)= \pm \frac{2 \sqrt{\beta}}{\sqrt{\gamma\left(4 \mu-\lambda^{2}\right)}}\left(\left(G^{\prime} / G\right)+\frac{\lambda}{2}\right) \tag{29}
\end{equation*}
$$

where

$$
\begin{equation*}
\xi=x \pm\left(\sqrt{\frac{2 \beta}{\lambda^{2}-4 \mu}-\alpha}\right) t+\xi_{0} \tag{30}
\end{equation*}
$$

and $\left(G^{\prime} / G\right)$ is given in Eq. 7 ).

## Set 3

$$
\begin{gather*}
a_{0}= \pm \sqrt{\frac{\beta}{\gamma\left(4 \mu-\lambda^{2}\right)}}\left(\lambda b_{0}-2 \mu b_{1}\right)  \tag{31}\\
a_{1}= \pm \sqrt{\frac{\beta}{\gamma\left(4 \mu-\lambda^{2}\right)}}\left(\lambda b_{1}-2 b_{0}\right), s= \pm \sqrt{\frac{2 \beta}{\lambda^{2}-4 \mu}-\alpha}
\end{gather*}
$$

where $b_{0}, b_{1}, \lambda$ and $\mu$ are arbitrary constants. Substituting Eq. 31 into Eq. 24 we get the following solution

$$
U(\xi)= \pm \frac{\sqrt{\frac{\beta}{\gamma\left(4 \mu-\lambda^{2}\right)}}\left(\lambda b_{1}-2 b_{0}\right)\left(G^{\prime} / G\right)+\sqrt{\frac{\beta}{\gamma\left(4 \mu-\lambda^{2}\right)}}\left(\lambda b_{0}-2 \mu b_{1}\right)}{b_{1}\left(G^{\prime} / G\right)+b_{0}}
$$

where

$$
\xi=x \pm\left(\sqrt{\frac{2 \beta}{\lambda^{2}-4 \mu}-\alpha}\right) t+\xi_{0}
$$

and $\left(G^{\prime} / G\right)$ is given in Eq. 77.

## Set 4

$$
\begin{gather*}
a_{0}= \pm \sqrt{\frac{\beta}{\gamma\left(4 \mu-\lambda^{2}\right)}}\left(\left(\frac{\lambda}{2} \pm \frac{1}{6} \sqrt{3 \lambda^{2}-12 \mu}\right)-2 \mu\right) b_{1}, a_{1}= \pm \sqrt{\frac{-\beta}{3 \gamma}} b_{1}  \tag{32}\\
b_{0}=\left(\frac{\lambda}{2} \pm \frac{1}{6} \sqrt{3 \lambda^{2}-12 \mu}\right) b_{1}, s= \pm \sqrt{\frac{2 \beta}{\lambda^{2}-4 \mu}-\alpha}
\end{gather*}
$$

where $b_{1}, \lambda$ and $\mu$ are arbitrary constants. Substituting Eq. 32 into Eq. 24 we get the following solution

$$
U(\xi)= \pm \frac{\sqrt{\frac{-\beta}{3 \gamma}}\left(G^{\prime} / G\right)+\sqrt{\frac{\beta}{\gamma\left(4 \mu-\lambda^{2}\right)}}\left(\left(\frac{\lambda}{2} \pm \frac{1}{6} \sqrt{3 \lambda^{2}-12 \mu}\right)-2 \mu\right)}{\left(G^{\prime} / G\right)+\frac{\lambda}{2} \pm \frac{1}{6} \sqrt{3 \lambda^{2}-12 \mu}}
$$

where

$$
\xi=x \pm\left(\sqrt{\frac{2 \beta}{\lambda^{2}-4 \mu}-\alpha}\right) t+\xi_{0}
$$

and $\left(G^{\prime} / G\right)$ is given in Eq. (7).

Example 3. The coupled Hirota-Satsuma KdV equations
The coupled Hirota-Satsuma KdV equations (CHSK) describes an interaction of two long waves with different dispersion relations 31]. We will consider the CHSK equations in the following form

$$
\begin{gather*}
u_{t}=\frac{1}{4} u_{x x x}+3 u u_{x}-6 v v_{x}  \tag{33}\\
v_{t}=-\frac{1}{2} v_{x x x}-3 u v_{x}
\end{gather*}
$$

Making the transformations $u(x, t)=U(\xi), v(x, t)=V(\xi), \quad \xi=x-s t+\xi_{0}$, where $s$ is the velocity of the wave to be determined later. We get the CHSK equations in the following form

$$
\begin{align*}
-s U^{\prime} & =\frac{1}{4} U^{\prime \prime \prime}+3 U U^{\prime}-6 V V^{\prime}  \tag{34}\\
-s V^{\prime} & =-\frac{1}{2} V^{\prime \prime \prime}-3 U V^{\prime}
\end{align*}
$$

By balancing the highest order derivatives and nonlinear terms in Eq. 344, we get $n=2$ and from Eq. (4) we write the solutions of Eq.(33) as

$$
\begin{align*}
& U(\xi)=\frac{a_{0}+a_{1}\left(G^{\prime} / G\right)+a_{2}\left(G^{\prime} / G\right)^{2}}{b_{0}+b_{1}\left(G^{\prime} / G\right)+b_{2}\left(G^{\prime} / G\right)^{2}} \\
& V(\xi)=\frac{e_{0}+e_{1}\left(G^{\prime} / G\right)+e_{2}\left(\left(G^{\prime} / G\right)^{2}\right.}{d_{0}+d_{1}\left(G^{\prime} / G\right)+d_{2}\left(G^{\prime} / G\right)^{2}} \tag{35}
\end{align*}
$$

Substituting Eq. (35) into Eq. (34), and we convert Eq. (34) into a polynomial in $\left(G^{\prime} / G\right)$. Equating the coefficients of the same power of $\left(G^{\prime} / G\right)$ to zero, yields a set of simultaneous algebraic equations. Solving the set of equations for $a_{i}, b_{i}, e_{i}, d_{i}(i=$ $0,1,2)$ and $s$ by using the computer programme, we get the following set of solutions

Set 1

$$
\begin{gather*}
a_{2}=-2 b_{0}, a_{1}=-2 \lambda b_{0}, \quad b_{1}=b_{2}=0 \quad, \quad d_{1}=d_{2}=0 \\
e_{0}=-\frac{e_{2}\left(\lambda^{2} b_{0}+8 \mu b_{0}+8 a_{0}\right)}{4 b_{0}}, e_{1}=\lambda e_{2}, \quad d_{0}=e_{2}  \tag{36}\\
s=\frac{\lambda^{2} b_{0}+8 \mu b_{0}+6 a_{0}}{2 b_{0}}
\end{gather*}
$$

where $a_{0}, b_{0}, e_{2}, \lambda$ and $\mu$ are constants. Substituting Eq. 36) into Eq. 35), hence we reach the following solutions

$$
\begin{gather*}
U(\xi)=-2\left[\left(G^{\prime} / G\right)^{2}+\lambda\left(G^{\prime} / G\right)\right]+\frac{a_{0}}{b_{0}}  \tag{37}\\
V(\xi)=\left(G^{\prime} / G\right)^{2}+\lambda\left(G^{\prime} / G\right)-\frac{\lambda^{2}+8 \mu}{4 b_{0}}-2 \frac{a_{0}}{b_{0}}
\end{gather*}
$$

where

$$
\xi=x-\left(\frac{\lambda^{2}+8 \mu}{2 b_{0}}+3 \frac{a_{0}}{b_{0}}\right) t+\xi_{0}
$$

and $\left(G^{\prime} / G\right)$ is given in Eq. (7). Substituting Eq.(7) into Eq.(37), we deduce the following travelling wave solutions.

Case 1: If $\lambda^{2}-4 \mu>0$ and if we choose $c_{1}=\cosh \left(\xi_{0}\right), c_{2}=\sinh \left(\xi_{0}\right)$, then we have the hyperbolic solutions for the Eq. 34

$$
\begin{gathered}
U(\xi)=\frac{a_{0}}{b_{0}}+\frac{\lambda^{2}}{2}-\frac{\lambda^{2}-4 \mu}{2} \operatorname{coth}^{2}\left(\frac{\xi}{2} \sqrt{\lambda^{2}-4 \mu}+\xi_{0}\right) \\
V(\xi)=\frac{-2 a_{0}}{b_{0}}-\frac{\lambda^{2}}{4}-\frac{\lambda^{2}+8 \mu}{4 b_{0}}+\frac{\lambda^{2}-4 \mu}{4} \operatorname{coth}^{2}\left(\frac{\xi}{2} \sqrt{\lambda^{2}-4 \mu}+\xi_{0}\right)
\end{gathered}
$$

Case 2: If $\lambda^{2}-4 \mu<0$ and if we choose $c_{1}=\cos \left(\xi_{0}\right), c_{2}=\sin \left(\xi_{0}\right)$, then we have the trigonometric solutions for the Eq. 34

$$
\begin{gathered}
U(\xi)=\frac{a_{0}}{b_{0}}+\frac{\lambda^{2}}{2}-\frac{\lambda^{2}-4 \mu}{2} \cot ^{2}\left(\frac{\xi}{2} \sqrt{4 \mu-\lambda^{2}}+\xi_{0}\right) \\
V(\xi)=\frac{-2 a_{0}}{b_{0}}-\frac{\lambda^{2}}{4}-\frac{\lambda^{2}+8 \mu}{4 b_{0}}+\frac{\lambda^{2}-4 \mu}{4} \cot ^{2}\left(\frac{\xi}{2} \sqrt{4 \mu-\lambda^{2}}+\xi_{0}\right) .
\end{gathered}
$$

Case 3: If $\lambda^{2}-4 \mu=0$, , then we have rational solutions for the Eq. 34)

$$
\begin{gathered}
U(\xi)=\frac{a_{0}}{b_{0}}+\frac{\lambda^{2}}{2}-\frac{2 c_{2}^{2}}{\left(c_{1}+c_{2} \xi\right)^{2}}, \\
V(\xi)=\frac{-2 a_{0}}{b_{0}}-\frac{\lambda^{2}}{4}-\frac{\lambda^{2}+8 \mu}{4 b_{0}}+\left(\frac{c_{2}}{c_{1}+c_{2} \xi}\right)^{2} .
\end{gathered}
$$

## Set 2

$$
\begin{gather*}
a_{2}=-b_{0}, a_{1}=-\lambda b_{0} \quad, \quad b_{1}=b_{2}=0 \quad, \quad d_{2}=0, \quad e_{0}=\frac{\lambda d_{0} e_{2}}{2 d_{1}} \\
a_{0}=-\frac{b_{0}\left(\lambda^{2} d_{1}^{2}+8 \mu d_{1}^{2}+4 e_{2}^{2}\right)}{8 d_{1}^{2}}, e_{1}=\frac{e_{2}\left(\lambda d_{1}+2 d_{0}\right)}{2 d_{1}}  \tag{38}\\
s=\frac{\lambda^{2} d_{1}^{2}-4 \mu d_{1}^{2}-12 e_{2}^{2}}{8 d_{1}^{2}}
\end{gather*}
$$

where $b_{0}, d_{0}, d_{1}, e_{2}, \lambda$ and $\mu$ are constants. Substituting Eq.(38) into Eq. (35), hence we reach the following solutions

$$
\begin{gathered}
U(\xi)=-\left[\left(G^{\prime} / G\right)^{2}+\lambda\left(G^{\prime} / G\right)\right]-\left(\frac{\lambda^{2}+8 \mu}{8}\right)-\left(\frac{e_{2}^{2}}{2 d_{1}^{2}}\right) \\
V(\xi)=e_{2} \frac{\left(G^{\prime} / G\right)^{2}+\left(\frac{\lambda d_{1}+2 d_{0}}{2 d_{1}}\right)\left(G^{\prime} / G\right)+\frac{\lambda d_{0}}{2 d_{1}}}{d_{1}\left(G^{\prime} / G\right)+d_{0}}
\end{gathered}
$$

where

$$
\xi=x-\left(\frac{\lambda^{2}-4 \mu}{8}+\frac{4}{3} \frac{e_{2}^{2}}{d_{1}^{2}}\right) t+\xi_{0}
$$

and $\left(G^{\prime} / G\right)$ is given in Eq. (7).

## Set 3

$$
\begin{gather*}
a_{2}=-b_{0}, a_{1}=-\lambda b_{0} \quad, \quad b_{1}=b_{2}=0 \\
e_{0}=\frac{e_{2} d_{0}}{d_{2}}, \quad e_{1}=\frac{e_{2} d_{1}}{d_{2}}  \tag{39}\\
s=-\frac{\lambda^{2} b_{0}+8 \mu b_{0}+12 a_{0}}{4 b_{0}}
\end{gather*}
$$

where $a_{0}, b_{0}, d_{0}, d_{1}, d_{2}, e_{2}, \lambda$ and $\mu$ are constants. Substituting Eq. 39) into Eq. 35, hence we reach the following solutions

$$
\begin{aligned}
U(\xi) & =-\left[\left(G^{\prime} / G\right)^{2}+\lambda\left(G^{\prime} / G\right)\right]+\frac{a_{0}}{b_{0}} \\
V(\xi) & =e_{2} \frac{\left(G^{\prime} / G\right)^{2}+\frac{d_{1}}{d_{2}}\left(G^{\prime} / G\right)+\frac{d_{0}}{d_{2}}}{d_{2}\left(G^{\prime} / G\right)^{2}+d_{1}\left(G^{\prime} / G\right)+d_{0}}
\end{aligned}
$$

where

$$
\xi=x+\left(\frac{\lambda^{2}+8 \mu}{4}+3 \frac{a_{0}}{b_{0}}\right) t+\xi_{0}
$$

and $\left(G^{\prime} / G\right)$ is given in Eq. (7).

## Set 4

$$
\begin{gather*}
a_{0}=\frac{\lambda^{4} b_{0}-8 \lambda^{2} \mu b_{0}+16 \mu^{2} a_{2}+16 \mu^{2} b_{0}}{4 \lambda^{2}} \\
a_{1}=\frac{\lambda^{4} b_{0}-8 \lambda^{2} \mu b_{0}+16 \mu^{2} a_{2}+16 \mu^{2} b_{0}}{4 \mu \lambda} \quad, \quad d_{2}=0  \tag{40}\\
b_{1}=\frac{\lambda b_{0}}{\mu} \quad, \quad b_{2}=\frac{\lambda^{2} b_{0}}{4 \mu^{2}}, e_{0}=e_{1}=e_{2}=0 \\
s=-\frac{\lambda^{4} b_{0}-16 \lambda^{2} b_{0} \mu+48 \mu^{2} a_{2}+48 \mu^{2} b_{0}}{4 b_{0} \lambda^{2}}
\end{gather*}
$$

where $a_{2}, b_{0}, \lambda$ and $\mu$ are constants. Substituting Eq. 40 into Eq. 35), hence we reach the following solutions

$$
\begin{gathered}
U(\xi)=\frac{a_{2}\left(G^{\prime} / G\right)^{2}+\left(\frac{\lambda^{4} b_{0}-8 \lambda^{2} \mu b_{0}+16 \mu^{2} a_{2}+16 \mu^{2} b_{0}}{4 \mu \lambda}\right)\left(G^{\prime} / G\right)+\left(\frac{\lambda^{4} b_{0}-8 \lambda^{2} \mu b_{0}+16 \mu^{2} a_{2}+16 \mu^{2} b_{0}}{4 \lambda^{2}}\right)}{\frac{\lambda^{2} b_{0}}{4 \mu^{2}}\left(G^{\prime} / G\right)^{2}+\frac{\lambda b_{0}}{\mu}\left(G^{\prime} / G\right)+b_{0}} \\
V(\xi)=0
\end{gathered}
$$

where

$$
\xi=x+\left(\frac{\lambda^{2}-16 \mu}{4}+\frac{12 \mu^{2} a_{2}+12 \mu^{2} b_{0}}{b_{0} \lambda^{2}}\right) t+\xi_{0}
$$

and $\left(G^{\prime} / G\right)$ is given in Eq. (7).

## Set 5

$$
\begin{gather*}
a_{0}=\frac{\lambda^{4} b_{0}-8 \lambda^{2} b_{0} \mu+16 \mu^{2} a_{2}+16 \mu^{2} b_{0}}{4 \lambda^{2}} \quad, \quad e_{1}=e_{2}=0 \\
a_{1}=\frac{\lambda^{4} b_{0}-8 \lambda^{2} b_{0} \mu+16 \mu^{2} a_{2}+16 \mu^{2} b_{0}}{4 \lambda \mu}, \quad d_{1}=d_{2}=0  \tag{41}\\
b_{1}=\frac{\lambda b_{0}}{\mu} \quad, \quad b_{2}=\frac{\lambda^{2} b_{0}}{4 \mu^{2}} \quad, \quad s=-\frac{\lambda^{4} b_{0}-16 \lambda^{2} b_{0} \mu+48 \mu^{2} a_{2}+48 \mu^{2} b_{0}}{4 b_{0} \lambda^{2}}
\end{gather*}
$$

where $a_{2}, b_{0}, \lambda$ and $\mu$ are constants. Substituting Eq. 41) into Eq. (35), hence we reach the following solutions

$$
\begin{gathered}
U(\xi)=\frac{a_{2}\left(G^{\prime} / G\right)^{2}+\left(\frac{\lambda^{4} b_{0}-8 \lambda^{2} b_{0} \mu+16 \mu^{2} a_{2}+16 \mu^{2} b_{0}}{4 \lambda \mu}\right)\left(G^{\prime} / G\right)+\left(\frac{\lambda^{4} b_{0}-8 \lambda^{2} b_{0} \mu+16 \mu^{2} a_{2}+16 \mu^{2} b_{0}}{4 \lambda}\right)}{\frac{\lambda^{2} b_{0}}{4 \mu^{2}}\left(G^{\prime} / G\right)^{2}+\frac{\lambda b_{0}}{\mu}\left(G^{\prime} / G\right)+b_{0}} \\
V(\xi)=\frac{e_{0}}{d_{0}}
\end{gathered}
$$

where $e_{0}, d_{0}$ are constants and

$$
\xi=x+\left(\frac{\lambda^{2}-16 \mu}{4}+\frac{12 \mu^{2} a_{2}+12 \mu^{2} b_{0}}{b_{0} \lambda^{2}}\right) t+\xi_{0}
$$

and $\left(G^{\prime} / G\right)$ is given in Eq. (7).

## 4. Conclusion

In this paper, we have obtained various types of travelling wave solutions for the combined KdV-mKdV equation, the reaction-diffusion equation, and the coupled Hirota-Satsuma KdV equations that are solved by using the rational $\left(G^{\prime} / G\right)$ expansion method. The main idea of this method is to reduce the partial differential equation to an ODE by using the travelling wave transformation (Eq. (2) ), after integrating the ODE in Eq. 3 , once or twice, then express the ODE in a compact form. This ODE can be written by a n-th degree polynomial in terms of $\left(G^{\prime} / G\right)$, where $G=G(\xi)$ is the general solution of the second order LODE in Eq.(5). In order to find the positive integer, we use the homogeneous balance method, that is balancing between the highest order derivative term and nonlinear term. The coefficients of the polynomials can be obtained by solving a set of algebraic equations. Generally, the resulted algebraic equations can be solved by using Maple software program. It is mostly possible to find a solution of the algebraic equations, but it is generally unable to guarantee the existence of a solution. Despite of this, the rational $\left(G^{\prime} / G\right)$-expansion method is still powerful method for finding travelling wave solutions of nonlinear evolution equations. The rational $\left(G^{\prime} / G\right)$-expansion method is also direct, concise, elementary that the general solution of the second order ODE Eq. (5) is well known and effective that it can be used for many other nonlinear evolution equations, such as the generalized shallow water wave equation, the compound KdV-Burgers equations, the Klein-Gordon equation, the generalized KPP equation, the approximate long water wave equations, the coupled nonlinear

Klein-Gordon-Zakharov equations, and so on. Therefore, various explicit solutions of these nonlinear evolution equations can be obtained by this method.

Author Contribution Statements Authors contributed equally and they read and approved the final manuscript.

Declaration of Competing Interests The authors declare that they have no competing interest.

## References

[1] Ablowitz, M. J., Clarkson, P. A., Solitons, Nonlinear Evolution Equations and Inverse Scattering (Vol. 149), Cambridge University Press, 1991. https://doi.org/10.1017/cbo9780511623998
[2] Hirota, R., Exact n-soliton solutions of the wave equation of long waves in shallowwater and in nonlinear lattices, Journal of Mathematical Physics, 14(7) (1973), 810-814. https://doi.org/10.1063/1.1666400
[3] Cariello, F., Tabor, M., Similarity reductions from extended Painlevé expansions for nonintegrable evolution equations, Physica D: Nonlinear Phenomena, 53(1) (1991), 59-70. https://doi.org/10.1016/0167-2789(91)90164-5
[4] Fan, E., Extended tanh-function method and its applications to nonlinear equations, Physics Letters A, 227(4) (2000), 212-218. https://doi.org/10.1016/S0375-9601(00)00725-8
[5] Liu, S., Fu, Z., Liu, S., Zhao, Q., Jacobi elliptic function expansion method and periodic wave solutions of nonlinear wave equations, Physics Letters A, 289(1) (2001), 69-74. https://doi.org/10.1016/S0375-9601(01)00580-1
[6] Wang, M., Solitary wave solutions for variant Boussinesq equations, Physics Letters A, 199(34) (1995), 169-172. https://doi.org/10.1016/0375-9601(95)00092-H
[7] Wang, M., Exact solutions for a compound KdV-Burgers equation, Physics Letters A, 213(56) (1996), 279-287. https://doi.org/10.1016/0375-9601(96)00103-X
[8] Wang, M., Zhou, Y., Li, Z., Application of a homogeneous balance method to exact solutions of nonlinear equations in mathematical physics, Physics Letters A, 216(1-5) (1996), 67-75. https://doi.org/10.1016/0375-9601(96)00283-6
[9] Kudryashov, N. A., Exact solutions of the generalized Kuramoto-Sivashinsky equation, Physics Letters A, 147(5-6) (1990), 287-291. https://doi.org/10.1016/0375-9601(90)90449X.
[10] He, J. H., Wu, X. H., Exp-function method for nonlinear wave equations, Chaos, Solitons Fractals, 30(3) (2006), 700-708. https://doi.org/10.1016/j.chaos.2006.03.020
[11] Rogers, C., Shadwick, W. F., Bäcklund Transformations and Their Applications. Academic Press, New York, USA, 1982.
[12] Yang, L., Liu, J., Yang, K., Exact solutions of nonlinear PDE, nonlinear transformations and reduction of nonlinear PDE to a quadrature, Physics Letters A, 278(5) (2001), 267-270. https://doi.org/10.1016/S0375-9601(00)00778-7
[13] Yan, Z., Zhang, H., New explicit solitary wave solutions and periodic wave solutions for Whitham-Broer-Kaup equation in shallow water, Physics Letters A, 285(5) (2001), 355-362. https://doi.org/10.1016/S0375-9601(01)00376-0
[14] Yan, Z., New explicit travelling wave solutions for two new integrable coupled nonlinear evolution equations, Physics Letters A, 292(1) (2001), 100-106. https://doi.org/10.1016/S0375-9601(01)00772-1
[15] Wang, M., Li, X., Zhang, J., The (G'/G)-expansion method and travelling wave solutions of nonlinear evolution equations in mathematical physics, Physics Letters A, 372(4) (2008), 417-423. https://doi.org/10.1016/j.physleta.2007.07.051
[16] Zhang, S., Tong, J. L., Wang, W., A generalized (G'/G)-expansion method for the mKdV equation with variable coefficients, Physics Letters A, 372(13) (2008), 2254-2257. https://doi.org/10.1016/j.physleta.2007.11.026
[17] Zhang, J. L., Wang, M. L., Li, X. Z., The subsidiary ordinary differential equations and the exact solutions of the higher order dispersive nonlinear Schrödinger equation, Physics Letters A, 357(3) (2006), 188-195. https://doi.org/10.1016/j.physleta.2006.03.081
[18] Wang, M., Li, X., Zhang, J., Various exact solutions of nonlinear Schrödinger equation with two nonlinear terms, Chaos, Solitons Fractals, 31(3) (2007), 594-601. https://doi.org/10.1016/j.chaos.2005.10.009
[19] Li, X., Wang, M., A sub-ODE method for finding exact solutions of a generalized KdV-mKdV equation with high-order nonlinear terms, Physics Letters A, 361(1) (2007), 115-118. https://doi.org/10.1016/j.physleta.2006.09.022
[20] Wang, M., Li, X., Zhang, J., Sub-ODE method and solitary wave solutions for higher order nonlinear Schrödinger equation, Physics Letters A, 363(1) (2007), 96-101. https://doi.org/10.1016/j.physleta.2006.10.077
[21] Islam, M., Akbar, M. A., Azad, A. K., A Rational (G'/G)-expansion method and its application to the modified KdV-Burgers equation and the $(2+1)$-dimensional Boussinesq equation, Nonlinear Studies, 22(4) (2015), 635-645.
[22] Konno, K., Ichikawa Y. H., A modified Korteweg de Vries equation for ion acoustic waves, Journal of the Physical Society of Japan, 37(6) (1974), 1631-1636. https://doi.org/10.1143/JPSJ.37.1631
[23] Narayanamurti, V., Varma, C. M., Nonlinear propagation of heat pulses in solids, Physical Review Letters, 25(16) (1970), 1105. https://doi.org/10.1103/PhysRevLett. 25.1105
[24] Tappert, F. D., Varma, C. M., Asymptotic theory of self-trapping of heat pulses in solids, Physical Review Letters, 25(16) (1970), 1108. https://doi.org/10.1103/PhysRevLett.25.1108
[25] Yomba, E., The extended Fan's sub-equation method and its application to KdV-MKdV, BKK and variant Boussinesq equations, Physics Letters A, 336(6) (2005), 463-476. https://doi.org/10.1016/j.physleta.2005.01.027
[26] Fan, E., Uniformly constructing a series of explicit exact solutions to nonlinear equations in mathematical physics, Chaos, Solitons Fractals, 16(5) (2003), 819-839. https://doi.org/10.1016/S0960-0779(02)00472-1
[27] Wadati, M., Wave propagation in nonlinear lattice, II. Journal of the Physical Society of Japan, 38(3) (1975), 681-686. https://doi.org/10.1143/JPSJ. 38.673
[28] Mohamad, M. N. B., Exact solutions to the combined KdV and MKdV equation, Mathematical Methods in the Applied Sciences, 15(2) (1992), 73-78. https://doi.org/10.1002/mma. 1670150202
[29] Zayed, E. M. E., Gepreel, K. A., The (G'/G)-expansion method for finding traveling wave solutions of nonlinear partial differential equations in mathematical physics, Journal of Mathematical Physics, 50(1) (2009), 013502. https://doi.org/10.1063/1.3033750
[30] Mei, J. Q., Zhang, H. Q., Jiang, D. M., New exact solutions for a reaction-diffusion equation and a Quasi-Camassa Holm equation, Appl. Math. E-Notes, 4 (2004), 85-91.
[31] Wu, Y., Geng, X., Hu, X., Zhu, S., A generalized Hirota-Satsuma coupled Korteweg-de Vries equation and Miura transformations, BKK and variant Boussinesq equations, Physics Letters A, 255(4-6) (1999), 259-264. https://doi.org/10.1016/S0375-9601(99)00163-2
[32] Inan, I. E., Duran, S., Uğurlu, Y., $\operatorname{Tan}\left(\mathrm{F}\left(\frac{\xi}{2}\right)\right)$-expansion method for traveling wave solutions of AKNS and Burgers-like equations, Optik, 138 (2017), 15-20. https://doi.org/10.1016/j.ijleo.2017.02.087
[33] Ekici, M., Ayaz, F., Solution of model equation of completely passive natural convection by improved differential transform method, Research on Engineering Structures and Materials, 3(1) (2017), 1-10. http://dx.doi.org/10.17515/resm2015.10me0818
[34] Ekici, M., Ünal, M., Application of the Exponential Rational Function Method to Some Fractional Soliton Equations, In Emerging Applications of Differential Equations and Game Theory, (pp. 13-32), IGI Global, 2020.
[35] Unal, M., Ekici, M., The double (G'/G, 1/G)-expansion method and its applications for some nonlinear partial differential equations, Journal of the Institute of Science and Technology, 11(1) (2021), 599-608. https://doi.org/10.21597/jist. 767930
[36] Islam, M. T., Akter, M. A., Distinct solutions of nonlinear space-time fractional evolution equations appearing in mathematical physics via a new technique, Partial Differential Equations in Applied Mathematics, 3 (2021), 100031. https://doi.org/10.1016/j.padiff.2021.100031
[37] Islam, M. T., Akter, M. A., Exact analytic wave solutions to some nonlinear fractional differential equations for the shallow water wave arise in physics and engineering, Journal of Research in Engineering and Applied Sciences, 6(1) (2021), 11-18.
[38] Islam, T., Akter, A., Further fresh and general traveling wave solutions to some fractional order nonlinear evolution equations in mathematical physics, Arab Journal of Mathematical Sciences, 26(1/2) (2020), Doi: 10.1108/AJMS-09.2020-0078
[39] Akbar, M. A., Ali, N. H. M., Islam, M. T., Multiple closed form solutions to some fractional order nonlinear evolution equations in physics and plasma physics, AIMS Mathematics, 4(3) (2019), 397-411. doi: 10.3934/math.2019.3.397
[40] Islam, M. T., Akbar, M. A., Azad, M. A. K., Closed-form travelling wave solutions to the nonlinear space-time fractional coupled Burgers' equation, Arab Journal of Basic and Applied Sciences, 26(1) (2019), 1-11. https://doi.org/10.1080/25765299.2018.1523702


[^0]:    2020 Mathematics Subject Classification. Primary 35C07; Secondary 35C08.
    Keywords. The rational $\left(G^{\prime} / G\right)$-expansion method, travelling wave solution, the combined KdV-mKdV equation, the reaction-diffusion equation, the coupled Hirota-Satsuma KdV equations.

    ■ mustafa.ekici@comu.edu.tr-Corresponding author; metin.unal@usak.edu.tr
    (D) 0000-0003-2494-8229; 0000-0002-4462-0872.

